Stat 100a: Introduction to Probability.
QOutline for the day:

Exponential random variables.

Uniform, random variables.

Normal random variables.

Functions of independent random variables.
Negative binomial random variables.
Moment generating functions of different distributions.
Survivor functions.
Violette/Elezra pot odds example.
P(eventually make 4 of a kind).
10 Heads up with AA, KK or 55.

11. Assign teams.
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Read through chapter 6.4!
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1. Exponential distribution, ch 6 .4.
Useful for modeling waiting times til something happens (like the

geometric).

pdf of an exponential random variable is f{y) = A exp(- A y), for y = 0,
and f(y) = 0 otherwise.

The cdf is F(y) =1 - exp(- 4 y), for y=0.

If X is exponential with parameter 4, then E(X) = SD(X) = 1/A

If the total numbers of events in any disjoint time spans are independent,
then these totals are Poisson random variables. If in addition the events are
occurring at a constant rate A, then the times between events, or interevent
times, are exponential random variables with mean 1/\.

Example. Suppose you play 20 hands an hour, with each hand lasting
exactly 3 minutes, and let X be the time in hours until the end of the first
hand in which you are dealt pocket aces. Use the exponential distribution to
approximate P(X < 2) and compare with the exact solution using the
geometric distribution.



Answer. Each hand takes 1/20 hours, and the probability of being dealt
pocket aces on a particular hand is 1/221, so the rate A = 1 in 221 hands

= 1/(221/20) hours ~ 0.0905 per hour.

Using the exponential model, P(X < 2 hours) = 1 - exp(-21) ~ 16.556%.
This 1s an approximation, however, since by assumption X is not continuous
but must be an integer multiple of 3 minutes.

Let Y = the number of hands you play until you are dealt pocket aces. Using
the geometric distribution, P(X < 2 hours) = P(Y < 40 hands)
=1-(220/221)*° ~ 16.590%.

The survivor function for an exponential random variable is particularly
simple: P(X > ¢) = [ fiy)dy = [ X exp(-A y)dy = -exp(-L y)].* = exp(-A c).

Like geometric random variables, exponential random variables have the
memorylessness property: if X is exponential, then for any non-negative
valuesaand b, P(X > a+b | X >a) = P(X > b). (Seepll)).

Thus, with an exponential (or geometric) random variable, if after a certain
time you still have not observed the event you are waiting for, then the
distribution of the future, additional waiting time until you observe the event
1s the same as the distribution of the unconditional time to observe the event
to begin with.



2. Uniform Random Variables and R.

Continuous random variables are often characterized by their
probability density functions (pdf, or density): a function f(x)
such that P{X is in B} = [; f(x) dx.

Uniform: f(x) =c, for x in (a, b).

= (0, for all other x.
[Note: ¢ must = 1/(b-a), so that [° f(x) dx = P{X isin (a,b)} = 1.]
Uniform (0,1). See p107-109.

f(y) =1, fory in (0,1). u = 0.5. G ~0.29.
P(X is between 0.4 and 0.6) = [, °f(y)dy = [, ° 1 dy =0.2.

In R, runif(1,min=a,max=b) produces a pseudo-random uniform.



Uniform example.

For a continuous random variable X,
The pdf f(y) is a function where [’ f(y)dy = P{X is in (a,b)},

E(X) =p = [..” y f(y)dy,
and o2 = Var(X) = E(X?) - 2. sd(X) = 0.

For example, suppose X and Y are independent uniform random variables on
(0,1), and Z = min(X,Y). a) Find the pdf of Z. b) Find E(Z). ¢) Find SD(Z2).

a.Forcin (0,1),P(Z>¢)=P(X>c&Y>c)=PX>c)P(Y>c)=(1-¢c)*’=1-2¢c + 2.
So,P(Z<c)=1-(1-2c+c? =2c-c%
Thus, J f(c)dc = 2¢ - ¢2. So f(c) = the derivative of 2¢ — ¢? =2 — 2¢, for ¢ in (0,1).
Obviously, f(¢) = 0 for all other c.
b.EZ) = [,y f(y)dy = |,' ¢ (2-2¢) dc = [;! 2¢ — 2¢? dc = ¢? — 2¢3/3] !
=1-2/3-(0-0)=1/3.
c. E(Z%) = [..7 y* f(y)dy = f' ¢? (2-2¢) dc = J,' 2¢? — 2¢? dec = 2¢3/3 — 2¢/4] .,
=2/3-1/2-(0-0)=1/6.
So, 0% = Var(Z) = E(Z?) - [E(Z)]? = 1/6 — (1/3)? = 1/18.
SD(Z) = 6 =+(1/18) ~ 0.2357.



3. Normal random variables.

So far we have seen two continuous random variables, the uniform
and the exponential.

Normal. pp 115-117. mean = u, SD = 0, f(y) = 1V(2n0?) e 0171207,
Symmetric around y,

50% of the values are within 0.674 SDs of u,

68.27% of the values are within 1 SD of u, and

95% are within 1.96 SDs of u.

* Standard Normal. Normal with y =0, 0= 1. See pp 117-118.
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4. Functions of independent random variables.
If X and Y are independent random variables, then
E[f(X) g(Y)] = E[f(X)] E[g(Y)], for any functions f and g.

See Exercise 7.12. This is useful for problem 5 .4.



5. Negative Binomial Random Variables, ch 5 4.
Recall: if each trial is independent, and each time the probability of an occurrence is p,
and X = # of trials until the first occurrence, then:
X is Geometric (p), P(X=k)=p' g~ -1, u=1/p, o= (\/q) +p.
Suppose now X = # of trials until the rth occurrence.
Then X = negative binomial (r,p).
e.g. the number of hands you have to play til you’ve gotten r=3 pocket pairs.
Now X could be 3,4,5, ..., up to «.
pmf: P(X =k) = choose(k-1,r-1) p*g* -7, fork =1, 1+1, ....
e.g.say r=3 & k=7: P(X =7) = choose(6,2) p* g*.
Why? Out of the first 6 hands, there must be exactly r-1 = 2 pairs. Then pair on 7th.
P(exactly 2 pairs on first 6 hands) = choose(6,2) p? q*. P(pair on 7th) = p.
If X is negative binomial (r,p), then y =r/p,and ¢ = (\/rq) +p.
e.g. Suppose X = the number of hands til your 12th pocket pair. P(X = 100)? E(X)? 6?
X = Neg. binomial (12, 5.88%).
P(X = 100) = choose(99,11) p'? g®®
= choose(99,11) * 0.0588 A 12 * 09412488 =0.104%.
E(X) =r1/p=12/0.0588 ~204. o= sqrt(12*0.9412) / 0.0588 = 5§7.2.
So, you’d typically expect it to take 204 hands til your 12th pair, +/- around 57.2 hands.




6. Moment generating functions of some random variables.
Bernoulli(p). ¢ (t) = pe' + q.

Binomial(n,p). ¢(t) = (pe' + q)". p94.
Geometric(p). @4 (t) = peY/(1 - ge').

Neg. binomial (r,p). @, (t) = [pe'/(1 — geY)]". p97.
Poisson()). gy (t) = ethe"r, p100.
Uniform (a,b). gy (t) = (e®® — e'?)/[t(b-a)]. p108.
Exponential (A). @5 (t) = A/(A-t). pl23.

Normal. @y (t) =ett+ 202},

Note t 1s missing in neg. binomial one on p97.



7. Survivor functions. p96 and 115.

Recall the cdf F(b) = P(X <b).

The survivor function is S(b) = P(X >b) =1 - F(b).

Some random variables have really simple survivor functions and it can be convenient to
work with them.

If X is geometric, then S(b) = P(X >b) =q°,forb=0,12,....

For instance, let b=2. X > 2 means the 1% two were misses,

ie. P(X>2) =q%

For exponential X, F(b) = 1 - exp(-Ab), so S(b) = exp(-Ab).

An interesting fact is that, if X takes on only values in {0,1,2,3,...},
then E(X) =S(0) + S(1) + S2) + ....

Proof. See p96.

S(0) =P(X=1) + P(X=2) + P(X=3) + P(X=4) + ...

S(1) = P(X=2) + P(X=3) + P(X=4) + ....
S(2) = P(X=3) + P(X=4) + ....
S(3) = P(X=4) + ....
Add these up and you get

0 P(X=0) + 1P(X=1) + 2P(X=2) + 3P(X=3) + 4P(X=4) + ...
=3 kP(X=k) = E(X).



8. Pot odds ex. Poker Superstars Invitational Tournament, FSN, October 2005.

Ted Forrest: 1 million chips

Freddy Deeb: 825,000 Blinds: 15,000 / 30,000
Cindy Violette: 650,000

Eli Elezra: 575,000

* Elezra raises to 100,000

* Forrest folds.

* Deeb, the small blind, folds.

* Violette, the big blind with K@ J& | calls.
*The flop is: 20 Td A

* Violette bets 100,000. (pot =315,000).
* Elezra raises all-in to 475,000. (pot = 790,000).

So, 1t's 375,000 more to Violette. She folds.

Q: Based on expected value, should she have called?
Her chances must be at least 375,000 / (790,000 + 375,000) = 32%.



Violette has K& J&. The flop is: 2 7é A
Q: Based on expected value, should she have called?
Her chances must be at least 375,000 / (790,000 + 375,000) = 32%.

VS. AQ:38%. AK:37%  AA:26% 77:26% AT:31%

A2:34% 72: 34% TT: 54% T9: 87% 73: 50%
Harrington's principle: always assume at least a 10% chance that opponent is bluffing.
Bayesian approach: average all possibilities, weighting them by their likelihood.



Violette has K& J&. The flop is: 2 7é A
Q: Based on expected value, should she have called?
Her chances must be at least 375,000 / (790,000 + 375,000) = 32%.

VS. AQ:38%. AK:37%  AA:26% 77:26% AT:31%

A2:34% 72: 34% TT: 54% T9: 87% 73: 50%
Harrington's principle: always assume at least a 10% chance that opponent is bluffing.
Bayesian approach: average all possibilities, weighting them by their likelihood.

Reality: FElezra had 7€ 39. Her chances were 51%. Bad fold.
What was her prob. of winning (given just her cards and Elezra’s, and the flop)?
Of choose(45,2) = 990 combinations for the turn & river, how many give her the win?
First, how many outs did she have? eight s + 3 kings + 3 jacks = 14.
She wins with (out, out) or (out, nonout) or (non-¢ Q, non-¢ T)
choose(14,2) + 14 x 31 + 3*3=534
but not (k or j, 7 or non-® 3) and not (3¢, 7 or non-¢ 3)
-6*4 -1*4 =506.
So the answer is 506 / 990 = 51.1%.



9. P(4 of a kind eventually).
Suppose you’re all in next hand, no matter what cards you get.

P(eventually make 4-of-a-kind)? [including case where all 4 are on board]
Trick: just forget card order, and consider all collections of 7 cards.
Out of choose(52,7) different combinations, each equally likely, how many of them
involve 4-of-a-kind?
13 choices for the 4-of-a-kind.
For each such choice, there are choose(48,3) possibilities for the other 3 cards.
So, P(4-of-a-kind) = 13 * choose(48,3) / choose(52,7) ~ 0.168%, or 1 in 595.

P(flop 4-of-a-kind) =
13*48 / choose(52,5) =0.024% =1 in 4165.

P(flop 4-of-a-kind | pocket pair)?
No matter which pocket pair you have, there are choose(50,3) possible flops,
each equally likely, and how many of them give you 4-of-a-kind?
48. (e.g.if you have 7# 79 then need to flop 7 74 x, & there are 48 choices for X)
So P(flop 4-of-a-kind | pp) = 48/choose(50,3) =0.245% = 1 in 408.



10. Heads up with AA.

Dan Harrington says that, “with a hand like AA, you really want to be one-on-one.” True or false?

* Best possible pre-flop situation is to be all in with AA vs A8, where the 8 is the same suit as one of your
aces, in which case you're about 94% to win. (the 8 could equivalently be a 6,7, 0r 9.) If you are all in for

$100, then your expected holdings afterwards are $188.

a) In a more typical situation: you have AA against TT. You're 80% to win, so your expected value is $160.

b) Suppose that, after the hand vs TT, you get QQ and get up against someone with A9 who has more chips
than you do. The chance of you winning this hand is 72%, and the chance of you winning both this hand and
the hand above is 58%, so your expected holdings after both hands are $232:

you have 58% chance of having $400, and 42% chance to have $0.

c) Now suppose instead that you have AA and are all in against 3 callers with A8, KJ suited, and 44. Now
you're 58.4% to quadruple up. So your expected holdings after the hand are $234, and the situation is just
like (actually slightly better than) #1 and #2 combined: 58.4% chance to hold $400, and 41.6% chance for $0.

* So, being all-in with AA against 3 players is much better than being all-in with AA against one player: in

fact, it's about like having two of these lucky one-on-one situations.



Want multiple callers with KK?

a) You have $100 and KK and are all-in against TT. You're 81% to

double up, so your expected number of chips after the hand 1s
0.81 x $200 = $162.

b) You have $100 and KK and are all-in against A9 and TT. You're
58% to have $300, so your expected value is $174.

e So,if you have KK and an opponent with TT has already called
you, and another who has A9 is thinking about whether to call
you too, you actually want A9 to call!

 Given this, one may question Harrington's suggested strategy of

raising huge in order to isolate yourself against one player.



What about with a low pair?

a) You have $100 and 55 and are up against A9. You are 56% to
win, so your expected value is $112.

b) You have $100 and 55 and are up against A9, KJ, and QJs. Seems
pretty terrible, doesn't it? But you have a probability of 27.3% to
quadruple, so your expected value is

0.273 x $400 = $109. About the same as #1!

| For these probabilities, see

http://www.cardplayer.com/poker odds/texas holdem ]




11. Project teams.

team a LIU, QIULI . BURNSIDE. MARK CHRISTOPHER . CHEN. TTANJIA .

team b YANCEY. JOEL GRAYSON . HE. GUANGYAO . LIU, TTANCHI .

team ¢ TORREZ. RAQUEL NICOLE . DOMINGUEZ, RICHARD AGUSTIN . CHEN.ANDY LINAN .
team d XING, HANNING . CHEN. WEUIE . HUBENY. REBECCA THERESE PINTO .

team e MAN. CHUYANG . MILLER. DOROTHEA CLAIRE . YAN. FEI .

team f SHEN., XTIAOTIAN . ZHANG.RONG . WANG. EMIL .

team g ST PIERRE. CHRISTIAN GARRISON . KAGEYAMA. RYAN TADAO . WEIL. ZIYUAN .
team h LEE. SANGWON . JEON, DANIEL . FOSTER. DEREK EVAN .

team i CHAND, PAARAS . OJEDA. CHRISTOPHER MATTHEW . CAO. YUCHEN .

team ] PARKER. GRACE ALEXANDRA . DRAFAHL.AMY LEE . MORALES. KAREN VANESSA .
team k MOON., YEASEUL . CHEN. DAVID . RIOS. RODRIGO ALFREDO .

team | LE.HOA T . SEPULVEDA.COOPER JAMES . MOESKAU, SAMANTHAL .

team m MCKENZIE. DAKOTA LAWTON . DULANEY., STEWART P. BAHRUN, IMAN ABDUSEMED .
team n SETH. ROHIT . REYES. ALBERTO LUIZ PASCASIO . DIAZ. MIGUEL OMAR .

team 0 ZHANG., HAIYU . KIM.HAE MI. SHAFRON. EDWARD WALTER .

team p LIU, SHENGOIAN . LEE. YURAN . YU.DA. .

team g FEKRINIA. KEVIN REZA . BAEK. SUNG JOON . AFZAL.AHSAN .

team r WANG, YEKAN . LEE. BRIAN S . CHOI, WONWOQO .

team s YUAN, MUHAN . HAN. SANGJUN . AHN. JINYOUNG .

team t AHN., MICHAEL SUNG MIN . YU.WEIJIA . HUANG, JIEBAI .

team u PARHAMI, SEPIDEH . YANG.ZHAO . YANG.NA .

team v PARIKH. ASHEN UTPAL . XIANG. PEIWEN . HART. THOMAS DAVID .

team w KOSUGE, TAKUYA . VARTANIAN, GARY LEON . MACHUCA.SANDRA ASHLEY .




The project is problem 8.2, p165.
You need to write code to go all in or fold. In R, try:
install.packages(holdem)
library(holdem)
library(help="holdem")
timemachine, tommy, ursula, vera, william, and xena are examples.
crds1[1,1] 1s your higher card (2-14).
crds1[2,1] 1s your lower card (2-14).
crds1[1,2] and crds1[2,2] are suits of your higher card & lower card.
help(tommy)
tommy
function (numattablel, crdsl, boardl, roundl, currentbet, mychipsl,
potl, roundbets, blinds1, chipsl, ind1, dealerl, tablesleft)
{al =0
if (crdsl1[1, 1] == crdsl1][2, 1])
al = mychipsl
al

¥




help(vera)
All in with a pair, any suited cards, or if the smaller card 1s at least 9.
function (numattablel, crds1, boardl, roundl, currentbet, mychipsl,
potl, roundbets, blinds1, chips1, ind1, dealerl, tablesleft)
{al =0
if ((crds1[1, 1] ==crds1[2, 1]) Il (crds1[1, 2] == crds1[2,2]) |l
(crds1[2, 1] > 8.5)) al = mychipsl
al
}

You need to email me your function, to frederic@stat.ucla.edu. It
should be written (or cut and pasted) simply into the body of the
email. If you write it in Word, save as text first, and then paste it
into the email. Just submit one email per team.

For instance, if your letter 1s “b”’, you might do:




For instance, if your letter 1s “b”’, you might do:

bruin = function (numattablel, crdsl, board1, round1, currentbet,
mychipsl, potl, roundbets, blinds1, chipsl, ind1, dealerl,
tablesleft) {

## all in with any pair higher than 7s, or if lower card 1s J or higher

al =0

if ((crdsl[1, 1] ==crdsl[2, 1]) && (crdsl[1, 1] > 6.5)) al = mychipsl

if (crds1[2,1] > 10.5) al = mychipsl

al

} ## end of bruin



